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. A quick Look back

@ 34 (b)) 17 (c) 36 (d) 58 (f) 64
X 2 X33 X7 X, 4 X8 x 9
€3 8 3 152 232 230 S76

Here are three different weiiis fo o this)

It makes no difference which two
numbers we multiply fi%st.
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2. Do each of these in three different ways.
(@ 2x3x5=L] (b) 2x4x5=1[] veilc) 7 Xx6x5=L0L1]

3. Fill in the frames to make these number sentences true.
(@ 3x@=12 (b) 5x[E=30 (c) 7 xIsl=35
(d) 8 xl&=232 (e) q x 6 = 54 IS 8 allli=56
(g) 8x3=24 (h)y 10x8 =80 () 8x{=72
() 15=5x8l. (k) 24 =6x4& () 42=7x&
130=10 %0 (n) 50=5x100 (0) 90 =9 x 6

(5x8=5x(2x4)
(b) 7x10=7x2x35)
() 5x70=5x(7x|9
(f) 7x30=7x3x19
L Li(h) 13 % 50 = 130 (5% 19)
) 11x70=11x(10xD).
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